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B BuE E— wx| 42 | 43 85 13.0/ 72.0
#iER | FH 15 #k| 46 | 44 90| 17.0] 73.0

3 fMI|AN =FHE | 48 | 4 89| 14.0/ 75.0

4 1| =% MH #| 43 | 41 90| 15.0] 75.0

5 u|EHA BH— tk| 45 | 44 89| 13.0/ 176.0

6 f|%F 0 BA £ 46 | 4] 93] 17.0] 76.0

T |2l A% | 44 | 4] 91] 15.0] 76.0

8 fil|fm E— | 49 | 45 94 17.0] 71.0

9 fu|BEAR & #| 47 | 44 91] 14.0] 71.0

10 fijYg 5= tx| 46 | 45 91] 14.01 717.0

1 |BE E— #| 45 | 50 95| 18.0] 71.0

12 fu|KH EE #x| 50 | 44 94] 16.0] 78.0

13 4z |#1 Fill #k| 48 | 45 93] 15.0] 78.0

14 fI|30s #CEHk  #| 48 | 46 94] 16.0] 78.0

15 f|FI & #| 44 | 48 92 14.0] 78.0

16 | R AF | 44 | 49 93] 15.0] 78.0

17 fijF BE | 47 | 41 94 15.0] 79.0

18 | K& HX #x| 46 | 49 95| 16.0] 79.0

19 5| K4 & #k| 45 | 48 93] 14.0] 79.0

20 fr|ILf% KX | 51 | 47 98] 18.0/ 80.0

21 | EE mif #| 50 | 48 98] 18.0/ 80.0

22 fi|BIL BX #x| 52 | 45 97] 16.0] 81.0

23 fI|EHE B #k| 52 | 46 98] 17.0] 81.0

24 1| ER = IE #x| 50 | 48 98] 17.0] 81.0

25 fI|&R/RP E #| 49 | 48 97] 16.0] 81.0

26 fz|HA — tx| 47 | 52 99| 18.0/ 81.0

2] fi|&H BE #| 54 | 44 98] 16.0] 82.0

28 HI|IUE 1§X #x| 52 | 48 100 18.0] 82.0

29 {5 |#8 KT | 49 | 51 100] 18.0{ 82.0

30 fi|ig IEE #x| 46 | 54 100 18.0] 82.0

31 fI|UK 5— #| 53 | 48 101] 18.0[ 83.0

32 f1|¥RO FN5h #| 52 | 49 101 18.0] 83.0

33 =i RA #| 51 | 49 100] 17.0{ 83.0

34 fu|fRFE R | 48 | 49 97] 14.0/ 83.0




35 fi|FHE 4K | 48 | 49 97] 14.0/ 83.0
36 fiz|H.L & #| 47 | 51 98] 15.0/ 83.0
37 |+ F& tx| 54 | 4] 101 17.0] 84.0
38 | FR ZE #k| 52 | 48 100 16.0{ 84.0
39 |EE BE #x| 50 | 47 97] 13.0/ 84.0
40 HIj/hE RIR #| 52 | 49 101] 16.0[ 85.0
ARO[ = i N7 tx| 48 | 52 100 15.0{ 85.0
42 1| KRIF =it #k| 54 | 46 100] 14.0{ 86.0
43 BI[E FE— #x| 54 | 50 104 18.0[ 86.0
44 H1Fel 5K\ #| 53 | 51 104 18.0[ 86.0
45 $I| X5 BhRd #x| 52 | 51 103] 17.0[ 86.0
46 fI|SH E— #k| 50 | 54 104 18.0[ 86.0
AT fu|He #hERF  #k| 58 | 46 104 17.0[ 87.0
48 i |BBEX f2A £x| 56 | 46 102| 15.0{ 87.0
49 {5 |%EiE FRsh #%| 50 | 95 105 18.0f 87.0
50 f |54 FHEAR #x| 49 | 55 104 17.0{ 87.0
o1 fi|EM & #| 51 | 55 106/ 18.0[ 88.0
52 fi|dbE EIE | 54 | 49 103] 14.0{ 89.0
53 | FH FIK #k| 53 | 52 105 16.0[ 89.0
54 fii|&) [ET] #x| 53 | 54 107] 18.0[ 89.0
5 fii| tH BE #| 56 | 52 108 17.0[ 91.0
56 i |RE [HFE #x| 56 | 53 109] 18.0{ 91.0
5] | RTF & £k 56 | 54 110 17.0{ 93.0
58 fif|Hh#f FOuE #x| 54 | 55 109] 15.0{ 94.0
59 fi| & #| 57 | 55 112| 17.0{ 95.0
60 |FH = #x| 56 | 56 112] 15.0{ 97.0
61 | FH EE #| 64 | 55 119] 18.0{ 101.0
62 | R%¥ EHIE #x| 53 | 68 1211 18.0{ 103.0
63 | H BRAE #| 61 | 61 122 18.0[ 104.0
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